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INCOME TAX

(Paper First)
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1.(1)

100

BT 3ifAart 8 Tt g b 3k wEHT &

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

FHIS—1

Unit-1
“ITHT T a9 B ST W AT & 17 FAT MY T
quiaaT HeAd & ¢ Afd TEl af STuarg aared | 10

“Income Tax is charged on the income of the
previous year”. Do you fully agree with this

statement ? If not, what are the exceptions ?
[P.T.O.]
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(2) |&T H “HET T FE@r U g H REar &l

THARRT |
Explain in brief ‘Deemed Assessee’ and ‘ Assessee in

Default’.
312041

OR

Y ferior aw 2020-21 & fow Mr. X &1 71 &2 arg

M B

(i) e " ® T qarsi & o aRd # 9rd adq7 |
3 50 80,000/~ (T & TE)

(i) -9 o Raa A TR § S AR | 9T
%0 10,000/-

(iii) T IR wFoAr & @rared 50 30,000/-

(iv) 3T St foF iwebrar § Suifsrd & T T 39§
9T ® TE F0 60,000/-

(v) AT H b THT WX HHE TS FAT qEF T bl TS
=T 50 60,000/-

(vi) TS | P F I, I8 TF0T AT a=dl & frer
W T § T & T F0 50,000/-

(vii)aTfeREar™ § TenfUd &R & @ 98l Uskh §eb | S T
fop, =R vra & A & %0 2,00,000/- (%0
2,00,000/- § & 0 1,00,000/- HRT T Q)
3T Mr. X &1 Hohal 3T ! 9T hiToTT Ife a8 —

(1) framEr (2) stamemer farr (3) stiarEr 21



)
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The following are the Taxable Incomes of Mr. X for

the Assessment Year 2020-21 :—

(1) Income from salary received in India for services
rendered in London Rs. 80,000 (computed)

(i1)) Income from House Property in Nepal received
in India Rs. 10,000/-

(ii1) Dividend from an Indian company Rs. 30,000.

(iv) Income accrued in Kolkata but received in Iran
Rs. 60,000.

(v) Interest earned and received in Bangladesh from
bank deposits there Rs. 60,000.

(vi) Income from agriculture in England, it is all
spent on the education of children in London Rs.
50,000.

(vii)Profits of business established in Pakistan
deposited in a bank there, this business is
controlled from India Rs. 2,00,000/- (Out of
Rs. 2,00,000/- a sum of Rs. 1,00,000/- is remitted
to India).

Compute the Gross Total Income of Mr. X if he
is
(a) Resident (b) Not ordinarily resident (c¢) Non-

Resident.
1 foraRor & SR WR &R feier a 2020-21 & fow
RO W& & Y AT T TOMT HITTT— 5
(3 v sma %0 86,000/-
@ W FE " %0 6,44,000/-
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Compute the tax liability of Mr. Rahul on the basis of
following particulars for the Assessment Year
2020-21:

(a) Agriculture Income Rs. 86,000/-
(b) Income from Rubber
manufacturing Rs. 6,44,000/-
ShIg—2
Unit-2

ot ofgd WM UH @ H 1 JHad 2010 §
12000-1000-24000 0 FTTH R Fger g3 | 1 faa=r
2019 T AR T & & HROT BT Bl T3 TAT S0
HaTE FAT HY & TS SR IF STu foaiverr & Sfrenfies
foare stfafem & v &fagfd & & 9 2,00,000/-
BO 9T BN qAT IS g sHfEEE 1972 =i
1,50,000/- I=ET 9T i | TH Hicrad 30 fa a1 st
HARIT T BT ATTBR &7 | HaT T B &6 qHY S
08 W& & AT SISt & o 1,68,000/- 0 T A
T 3T 1 01 fee=r 2019 T 38 30,000/~ F0 Gfcre
B T AR I Y AT | 37O RErast 7 & gun
% fore 3o S1ae e & 01 %ad, 2020 &0 04 918
T I A forar e 20,000/~ T 97 ford |

IE A BT foh A STl HIE i Tl fofer i < B

2, &Y fafor ad 2020-21 & fow St a7 sfidew &
T T[T 3T ol T BT | 15
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Mr. Abdul Rahim was appointed in a factory on O1st
January 2010 in the pay scale of Rs. 12,000-1000-
24,000. On 1st September 2019 his services were
terminated at the time of retrenchment on account of
closure of business and he received a compensation
of Rs. 2,00,000/- from his employer under the
Industrial Disputes Act and he received also gratuity
Rs. 1,50,000/- under the Payment of Gratuity Act,
1972. He was entitled to avail earned leave of 30 days
each year. At the time of termination of his service,
he was also paid Rs. 1,68,000/- for 08 months earned
leave not availed of by him during the period of
service. On 0lst December 2019 he got another
appointment on a monthly salary of Rs. 30,000/-. On
01st February 2020 in order to meet the expenses for
repair of his home, he received an advance of 04
month’s salary and also took a loan of Rs. 20,000/-
from his employer for the purpose.

Determine his taxable income under the head
‘Salaries’ for the assessment year 2020-21 assuming

that the salary is due on the first of the next month.
34T

OR

A T SETET 6 FFIfT ST @ & | 366 & F9 gee
g— el Fer ge-l, giel § A @F 3R s
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IRaAR & @I @ W & a1 gie-11 &l fd W w@r 2 |
(forerar 7,000 Fo gfomie & | I8 I U ToH & fog
Tl TSt @l o8 S I8 T8 @Y W & hE H )
Trgfey BT TRATferer ge 1,25,000 %0 & | 9eh foheran
1,35,000 50 3, 3Ifaa fmear 1,50,000 €0 &1 TR
qTfeteRT Y 12% ol & F (FRUTIeTeRT e UR) TITT 1T
o A 92 R 3 fusw ad 2019-20 & fow s
Tt 7 5,000 B0 , <197 9¥ 6,000 F0 IMHA © 1A
§01.07.2016 I LIC & 12% Hfaad &l 22 & 8,00,000
0 g fetor & o Seam fod & | =) i s
30 S 2018 T T & AT &7 T FT 74T 37&T ¢ |

e A &t 3 &1 (iR 2020-21 & forg stfiepa
TET AR i fF A &1 o= @l d 3
2,00,000 %0 ¥ |

A owns a residential house property. It has two
identical units— Unit-I and Unit-II. While Unit-I is
self occupied by A and his family members, Unit-II is
let out (rent being Rs. 7,000/- per month, this unit
remained vacant for one month during which it was
self occupied). Municipal value of the property is Rs.
1,25,000. Standard rent is Rs. 1,35,000 and fair rent is
Rs. 1,50,000. Municipal Tax is imposed @ 12% (on
Municipal value) which is paid by A. Other expenses
for the previous year 2019-20 being repair Rs.
5,000/-, insurance Rs. 6,000.
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A borrowed Rs. 8,00,000 on 01.07.2016 from LIC @
12% p.a. to construct the property. Construction of
the house was completed on June 30, 2018. The
entire loan is still unpaid.
Compute the income of Mr. A for the assessment year
2020-21. On the assumption that income of A from
other sources is Rs. 2,00,000/-.
TPIE—3

Unit-3
o wew UH fafeed g1 U w|d # UikRed &
SAfaRar T v i sreadTa # Srgea fafhes ot &
T | I AiHE aRethe W fear €1 a8 XYZ Co.
Ltd. ¥ wref fafeheaess ot & 9@t & & 91fée Retainer
fee O 21

T AT T e e hr ReprE @ & aor 31
A 2020 @ FHAS B A a9 & fow e e
IaeeT E—

qftaai—

wWEe g ITed 2,60,000/-
o1l STeadra & dehal et 1,34,000/-
XYZ Co. Ltd. ¥ Retainer fee 60,000/-

§% | T ST W & (TeEEdd §9) 13,000/-
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A —
FAlweh ol foparar qar faerer = 12,000/-
AR T 2,400/-
H2OT UG WYL 500/-
FR & WE@E & @ 12,000/-
FAIh HEHH hl AL 3,600/-
e BT dad 3,600/-
BICEICIEIRIEPL 2,400/-

FANMD Bl BR qAT Herax w1 01.04.2019 H &R
T 25,000/~ FET 2,000/~ 0 SHAST: &T, HR T SADB
BT 20% JANT AT aer Hoil wrEf & oy o1 R W
BT BT AN 15% T9T Beiral T 10% Bl & F BT
zl

Y e ad 2020-21 & forg 2ferex &t Fohet H S
I T HITTT | 15

Dr. Mahesh is a medical practitioner. Besides his
own practice, he works as a part-time physician in a
private hospital for which he receives a monthly

remuneration.

He is also a consultant physician of XYZ Ltd. Co. on

a monthly retainer fees.
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The doctor maintains a record of his receipts and
payments and for the year ended 31st March, 2020
the following information is abstracted there from.

Receipts :

Consultation fees 2,60,000
Gross remuneration from private hospital  1,34,000
Retainer fees from XYZ Ltd. Co. 60,000
Interest on Bank fixed deposit 13,000
(Nationalised bank)

Payments :

Rent & Electricity charges for clinic 12,000
Telephone charges 2,400
Printing and Stationery 500
Car Maintenance expenses 12,000
Wages of clinical assistant 3,600
Driver’s salary 3,600
Life Insurance Premium 2,400

The written down value of car and furniture at the
clinic ason 01.04.2019 are noted to be Rs. 25,000 and
Rs. 2,000 respectively, 20% of the use of the car and
telephone is attributable to personal and private
purposes. Provide for depreciation on car @ 15% and
furniture @ 10%.
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Compute the gross total income of the doctor for the
assessment year 2020-21.
3120d1

OR
ey oo 9 ot e g=taal a9 01.04.2019 |
31.03.2020 &% SR 4t A 1 yopw & E-

HATYYOT, ARTT 80,000 %0 (ST ST 2017 H 9 fehw) 7
2019 # 1,00,000 &0 # < T |

IR H B & Igaed q [hUd W IS[AT BAT FhH
31.10.2019 I 14,00,000 %0 H &=T1 01.04.2001 T
3T AR 9w 3,00,000 0 1 2009-10 § IqH LUK
W AR 29,600 0 TEIAT 2T 25,000 0 7 |

T HrrER 2009 ¥ RrEer @rd 14,000 €0 o A
2020 ¥ 26,000 F0 ¥ =T |

HI 01.12.2019 &I 45,000 0 H <=1 orqert sTaeifiad
e 01.04.2019 T 38,000 %0 T |

01.01.2020 @ @& =0 HW Y7 8,00,000 FO H TH
sfafem & I=ria st &0 & AferyfEa & o T8
fSTEehT 2003-04 | @RI 65,400 %0 &7 |

I BT ARG Sl A9 Bl IO HINT | AR ThiTT
gIdie 2001-02 # 100, 2003-04 F 109, 2009-10 H
148 3T 2019-20 & 289 ¥ |




(a)

(b)

(c)

(d)

(e)

(1)
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Mr. Vijay sold some of his property during the year
01.04.2019 to 31.03.2020 as under :
Jewellery costing Rs. 80,000 (which was accrued in
June 2017) was sold for Rs. 1,00,000 in May 2019.
House at Kolkata, let out for residential purposes. Its
sale price on 31.10.2019 is Rs. 14,00,000. Fair
market value on 01.04.2001 Rs. 3,00,000. Cost of
improvement made during 2009-10 Rs. 29,600.
Expenses on transfer are Rs. 25,000.
Household furniture costing Rs. 14,000 in 2009 was
sold in March, 2020 for Rs. 26,000.
Car was sold on 01.12.2019 for Rs. 45,000, its
written down value on 01.04.2019 was Rs. 38,000.
Self cultivated land was compulsorily acquired under
law for Rs. 8,00,000 on 01.01.2020 and its cost in
2003-04 was Rs. 65,400.
Compute the taxable capital gains. Cost inflation
indices as 2001-02-100, 2003-04-109, 2009-10-148
and 2019-20-289.

SHIE—4

Unit-4

AR & el fex aee & e a¥ 2020-21 &
for ST St T fe faeReT e e E-

TRl IR I3 U HehI & ST (0T &l T18) 9500
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(2) AT AR G @qTH 19600
(3) UH BH H AT Bl 3T 1800
4) a@ﬁaﬁq 1900
(5) AR JoiT T4 3200
(6) ETERI Yot dT4 1400

(1
)
3)
4
)
(6)

(1)
2)

Fr=fefad 7e qd @ feiRor a9 2019-20 § S0 @
™ -

AT & AT & BT 4600
AT 319 1000
SR YT BT 2015-16 a5 & 4100
SrHepTe e ST 1 2016-17 a9 & 3950
HeRI R & BT 3000
EERIE] 3200

T a9 T B 500 F0 & | SHAThT STh! qehel Bl A
T O AT & TAT Bl bl ST of o & qaer o
fRaT HAT B 15

Mr. Yadav a resident of India submit the following
particulars of his income for the assessment year
2020-21 :

Income from house let out (computed) 9500
Profit from Radio business 19600



3)
(4)
©)
(6)

(1
)
3)
4
)
(6)

(D
)
3)
4

[13] ED-2043
Income of interest from a firm 1800
Speculation income 1900
Short term capital gains 3200
Long term capital gains 1400

The following items have been brought forward from
the preceding assessment year 2019-20 :

Loss from Radio business 4600
Unabsorbed depreciation 1000
Short term capital loss (year 2015-16) 4100
Long term capital loss (year 2016-17) 3950
Loss from house property 3000
Speculation loss 3200

Current year depreciation is Rs. 500.

You are required to compute his gross total income
and deal with the carry forward of losses.

34T

OR
frfafaa faaeen & & faRer ad 2020-21 & foag
ey ster BT 3 ST I UMD difTT—
AT (T B TE) 5,00,000
HebTT R T fohrar 28,000
EEEARIE R T IR 1,42,000
o T9d @1 H AT 9,500
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)
(6)
(7
(8)
)
(10)

(1)
2)
€)
(4)
©)
(6)
(7
(8)
)

(10)

()

& P 3T 20,000
e | S 15,000
EIEEEINERE IR UGIE] 14,000
JHIOIT Yifdd=e ®vg § e 52,000
TarfeReaT ST Y 1 I ERT A 11,000
T AT TSl HIY § =9 ZRT 3 10,000

From the following particulars calculate tax payable
by Mr. Akshaya for the assessment year 2020-21 :

Salary (computed) 5,00,000
Rent from House Property 28,000
Long term capital gains 1,42,000
Interest from bank saving account 9,500
Net agricultural income 20,000
Winning from Lottery 15,000
Payment of life insurance premium 14,000
Contribution to recognised provident fund 52,000

Premium paid by cheque on mediclaim

insurance policy 11,000
Donation to Prime Minister’s National

Relief Fund by cheque 10,000

SHIS—5
Unit-5

frfoiad STl 9X I T T Y & Heldl & qae
H A & 1 T & — 15
e BT AW
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gioyfedl W =
[ERPE R UGIE]

What are the provisions of law regarding deduction

of tax at source from the following incomes :
Winning from lottery
Interest on securities

Payment of rent.

34T
OR
T G & FI9T BT 9RT 244A & = oF ST
T IOTT BT — 10
(i) & Mg ad 2019-20 & [ s & 3,00,000
faRor & 3meR W ST S <7 fafy
STIiq 30.9.2019 i arfae #2 & ar|
(ii) Y I T T TR gebrs &i—
() 31.3.2019 T FFH *HT 2,80,000
(@) & 140A & S=id =g T 20,000
ferfor @ %X 30.9.2019 Hr
(iii) 31.3.2020 ¥ & 143(3) B AT 4,00,000
frafa & eaior ) ST w1

(iv) WRT W AT 74T T 1.6.2020 r 1,00,000
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(v) 30.11.2020 T 19T H TOMT T 3,20,000
AT
(vi) 30.11.2020 T aT9HT &I AT T |

From the following information compute interest
payable by the department, if any U/S 244A.
(1) Tax due as per return of income 3,00,000
for the assessment year 2020-21
which was filed on the due date
i.e. 30.09.2019.

(i1)) The amount of tax was paid as under :

(a) Advance tax upto 31.3.2019 2,80,000
(b) Tax on self assessment U/S 140A 20,000
on 30.9.2019

(i11) Tax determined on regular assessment 4,00,000
U/S 143(3) on 31.3.2020

(iv) Tax paid (on demand) on 1.5.2020 1,00,000

(v) Tax determined on appeal on 3,20,000
30.11.2020

(vi) Actual refund granted on 30.11.2020.

(@) o7 U8 W & AT RAgid aarey | 5

Explain the general principles of imposing penalty.



